
COP32087-1     DP102U080641    B302   8.853273.L               

C
O

P
32

08
7-

1 
   

   
   

D
P

10
2U

08
06

41
   

   
B

30
2 

   
 8

.8
53

27
3.

L 
   

   
   

   
  



COP31522-1     DP102U080641    A040   DP102U080641             

C
O

P
31

52
2-

1 
   

   
   

D
P

10
2U

08
06

41
   

   
A

04
0 

   
 D

P
10

2U
08

06
41

   
   

   
   

 



COP31522-1     DP102U080641    B010   DP102U080641             

C
O

P
31

52
2-

1 
   

   
   

D
P

10
2U

08
06

41
   

   
B

01
0 

   
 D

P
10

2U
08

06
41

   
   

   
   

 



COP31522-1     DP102U080641    B010   DP102U080641             

C
O

P
31

52
2-

1 
   

   
   

D
P

10
2U

08
06

41
   

   
B

01
0 

   
 D

P
10

2U
08

06
41

   
   

   
   

 



COP31522-1     DP102U080641    B010   DP102U080641             

C
O

P
31

52
2-

1 
   

   
   

D
P

10
2U

08
06

41
   

   
B

01
0 

   
 D

P
10

2U
08

06
41

   
   

   
   

 



COP31522-1     DP102U080641    H030   DP102U080641             

C
O

P
31

52
2-

1 
   

   
   

D
P

10
2U

08
06

41
   

   
H

03
0 

   
 D

P
10

2U
08

06
41

   
   

   
   

 



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: DP102U080641Assembly

ECO Date:
DOUBLE DRAG PINCH ROLL Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

0 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

8.853273.L 00 NR1,001 DOUBLE DRAG PINCH ROLL

1,0 −−−A

1,00A0 ( NR

KG7.050,000

40 SB

8.855171.G 00 NR1,001 HYDRAULIC PIPING SYSTEM DOUBLE DRAG PINCH ROLL

2,0 −−−A

1,00A1 ( NR

KG43,000

40 SB

8.855174.C 01 NR1,001 GREASE PIPING SYSTEM DOUBLE DRAG PINCH ROLL

3,0 −−−A

1,00A1 ( NR

KG29,000

40 SB

8.601437.D/A01 00 NR1,001 ELECTRICAL CONDUIT SYSTEM DOUBLE DRAG PINCH ROLL

4,0 −−−A

1,00A1 ( NR

KG17,000

40 SB

6.412868.V 00 NR1,001 ELECTRICAL WIRING DIAGRAM PINCH ROLL TRN−X001

5,0 −−−A

1,00A3 ( NR

KG

40 SB

8.753118.L 00 NR1,001 ***BOM ASSEMBLY*** JUNCTION BOX OBS−X001

6,0 −−−A

1,00 NR

KG3,000

40 SB

7.333034.P 00 NR1,001 NAME PLATES

7,0 −−−A

1,00A3 ( NR

KG,040

4W SB

FTRDP102U080641 00 NR1,001 FINAL TEST REPORT

994,0 −−−A

1,00A3 ( NR

KG

40 SB

DP102U−AA00−G0000−DL001 01 NR1,001 VENDOR LIST

1 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: DP102U080641Assembly

ECO Date:
DOUBLE DRAG PINCH ROLL Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

0 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

995,0 −−−A

1,00A4 NR

KG

40 SB

DP102U−AA00−G0000−DS002 00 NR1,001 PAINTING SPECIFICATION FOR COLD MILL COMPLEX

996,0 −−−A

1,00A4 NR

KG

40 SB

DPXXXX−XA00−P7000−DS005 00 NR1,001 ON BOARD MACHINERY PIPING SYSTEM MATERIAL

997,0 −−−A

1,00A4 NR

KG

40 SB

QCPDP102U080641 01 NR1,001 QUALITY CONTROL PLAN

998,0 −−−A

1,00A4 NR

KG

40 SB

2 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.753118.LAssembly

ECO Date:
***BOM ASSEMBLY*** JUNCTION BOX OBS−X001 3,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

0 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

0.194738.F 01 NR1,002 TERMINAL BOX 200X200X120 − STEEL

101,0 −−−E KL 1502.510 "RITTAL"

1,00 NR

KGS 1.000.201 2,300

3P SB

0.107043.B 02A MT,202 SUPPORTING PROFILE TS 35 EN 50022

102,0 −−−E ST 8 ZNC

,20 MT

KGS 1.000.301 ,312

3P SB

0.106280.Q 02 NR12,002 TERMINAL  − GR.4SUITABLE FORP ROFILE TS35

103,0 −−−E

12,00 NR

KGS 1.000.301 ,010

3P SB

0.057091.R 01 NR2,002 SLOTTED CHEESE HEAD SCREW ISO 1207

104,0 −−−E M5X10−4.8−ZINC COATED ACCORDING TO STD DAN 3.210.001

2,00 NR

KGS 3.210.001 ,003

3P SB

0.057114.X 00A NR2,002 HEXAGON REGULAR NUT ISO 4032

105,0 −−−E M5−8−ZINC COATED ACCORDING TO STD DAN 3.220.001

2,00 NR

KGS 3.220.001 ,002

3P SB

0.538001.G 00 NR2,002 PLAIN WASHER ISO 7089−5−200 HV−STEEL−

106,0 −−−E ELECTROPLATED ZINC COATING Fe/Zn5D2D ISO 4042

2,00 NR

KGS 3.250.001

3P SB

0.107001.A 03 NR1,002 PLATE END GR.4

107,0 −−−E

1,00 NR

KGS 1.000.301 ,010

3P SB

0.107028.C 02 NR2,002 END CLAMP

108,0 −−−E

2,00 NR

KGS 1.000.301 ,010

3P SB

3 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.601437.D/A01Assembly

ECO Date:
ELECTRICAL CONDUIT SYSTEM DOUBLE DRAG PINCH ROLL 17,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

IEPTRN 0000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

0.261133.B 00 NR2,002 PROXIMITY SWITCH CODE II 5851

101,0 −−−F IIK3010−BPKG/US−104−DPS

2,00 NR

KG,143

4P SB

0.269315.Z 01 NR2,002 STRAIG.CONNECTOR M12 4 POLES TYPE EVC002 + 5 MT. PUR CABLE

102,0 −−−F (EX. E10907)

2,00 NR

KGS ,173

3P SB

0.000256.Z 02 NR5,002 HEXAGON HEAD SCREW ISO 4017

103,0 −−−F M6X20−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

5,00 NR

KGS 3.210.001 ,006

3P SB

0.529825.W 00 NR5,002 PLAIN WASHER ISO 7089

104,0 −−−F −6−200 HV−STEEL− PHOSPHATED MNPH ISO 9717

5,00 NR

KG3.250.001 ,001

4P SB

0.001293.B 00A NR5,002 SPRING LOCK WASHER UNI 1751

105,0 −−−F −B6−44 HRC a 49 HRC−STEEL− PHOSPHATED MNPH ISO 9717

5,00 NR

KG3.250.003 ,001

4P SB

0.000263.X 02 NR5,002 HEXAGON HEAD SCREW ISO 4017

106,0 −−−F M8X16−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

5,00 NR

KGS 3.210.001 ,011

3P SB

0.000264.Z 03 NR5,002 HEXAGON HEAD SCREW ISO 4017

107,0 −−−F M8X20−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

5,00 NR

KG3.210.001 ,012

4P SB

0.529826.X 00 NR10,002 PLAIN WASHER ISO 7089

108,0 −−−F −8−200 HV−STEEL− PHOSPHATED MNPH ISO 9717

10,00 NR

KGS 3.250.001 ,002

3P SB

0.001294.C 00A NR10,002 SPRING LOCK WASHER UNI 1751

4 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.601437.D/A01Assembly

ECO Date:
ELECTRICAL CONDUIT SYSTEM DOUBLE DRAG PINCH ROLL 17,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

IEPTRN 0000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

109,0 −−−F −B8−44 HRC a 49 HRC−STEEL− PHOSPHATED MNPH ISO 9717

10,00 NR

KGS ,001

3P SB

0.000405.P 02 NR5,002 HEXAGON SOCKET HEAD CAP SCREW ISO 4762

110,0 −−−F M8X16−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

5,00 NR

KG3.210.001 ,012

3P SB

0.001313.E 01 NR5,002 SCHNORR MILLER SAFETY WASHER TYPE "S"

111,0 −−−F −8−SPRING STEEL− 370HV to 580HV−PHOSPHATED

5,00 NR

KG,001

3P SB

0.311248.W 00A MT,202 EQUAL LEG ANGLE L 50X50X5

112,0 −−−F EN 10056−1−S275JR+AR EN 10025−2−STD DAN 6.300.001

,20 MT

KGS 6300001 3,770

3P SB

0.052692.D 00 NR3,002 LOCK NUT FOR CONNECTORS 1/2" − ISO 228/1

113,0 −−−F LIGHT SERIES − STEEL

3,00 NR

KGS 1.000.101 ,005

3P SB

0.005399.H 01 NR3,002 DOWTY SEAL RING 21,6X26,7X1,25

114,0 −−−F

3,00 NR

KG2.200.601 ,001

4P SB

0.065534.V 00A NR3,002 90?FITTING PG 1/2" M−F  RTA 86343

115,0 −−−F

3,00A4 NR

KGS

3P SB

0.052648.X 00A NR6,002 STRAIGHT MALE CONNECTOR 1/2" ISO228/1 − DI=15

116,0 −−−F HEAVY SERIES FLEX SHEATH

6,00 NR

KGS 1.000.103 ,055

3P SB

0.111755.C 00A NR2,002 90° MALE CONNECTOR 1/2" ISO228/1 − I.D.=15

117,0 −−−F FLEXIBLE SHEATH HEAVY SERIES

2,00 NR

5 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.601437.D/A01Assembly

ECO Date:
ELECTRICAL CONDUIT SYSTEM DOUBLE DRAG PINCH ROLL 17,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

IEPTRN 0000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

KG1.000.103 ,080

2P SB

0.111713.S 00A MT2,002 HEAVY SERIES FLEX SHEATH L=

118,0 −−−F D=20MM 1/2" − 16 PG EXTERNAL PVC COATING

2,00 MT

KGS 1.000.103 ,420

3P SB

0.052685.E 00 NR2,002 COUPLING FOR CONDUITS 1/2" − ISO 228/1

119,0 −−−F LIGHT SERIES − STEEL

2,00 NR

KG1.000.101 ,050

4P SB

0.908811.C 01 MT1,002 ERW PIPE 21,7X2,3 L=6000 ISO65 UNI8863 FE330

120,0 −−−F ISO 7−1R + COUPLING ZINC COATED EN 10240−A.1

1,00 MT

KGS 1.000.104 1,090

3P SB

0.053610.P 00A NR3,002 PIPE CLAMP WELD PLATE d=1/2"−DIN3015−2 For.A−Gr.2

121,0 −−−F POLYPROP. PP WITH SCREWS AND COVER PLATES TOP/BOTT.

3,00 NR

KG2.800.001 ,440

2P SB

0.513801.W 00A NR2,002 90° FF METAL ELBOW SIDE INSPECTION G1/2"

122,0 −−−F 86303 "LEGRAND"

2,00 NR

KG,300

4P SB

0.111794.R 00B NR1,002 STRIP 60X50X6MM

123,0 −−−F GROUNDING SYSTEM AISI 304 STAINLESS STEEL

1,00 NR

KGS 1.300.001 ,160

3P SB

4.847630.D/092 04W NR2,002 PLATE

301,0 −−−F

2,00A0 ( NR

KG,500

4P SB

4.968120.F/009 01K NR2,002 SUPPORT

302,0 −−−F

2,00A2 ( NR

KG,350

4P SB

6 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.601437.D/A01Assembly

ECO Date:
ELECTRICAL CONDUIT SYSTEM DOUBLE DRAG PINCH ROLL 17,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

IEPTRN 0000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

5.904696.X 00A NR2,002 FITTING FOR PROXIMITY SWITCH M30X1.5

303,0 −−−F

2,00A3 ( NR

KG,150

4P SB

7.191680.S/001 00A NR2,002 CAM

304,0 −−−F

2,00A2 ( NR

KG,200

4W SB

4.858992.X/001 00E NR1,002 PLATE FOR JUNCTION BOX

305,0 −−−F

1,00A3 ( NR

KG1,700

4P SB

7.191681.N/001 00A NR1,002 SUPPORT

306,0 −−−F

1,00A2 ( NR

KG5,600

4W SB

4.861062.Z/007 02M NR2,002 BED PLATE

307,0 −−−F

2,00A2 ( NR

KG,600

4P SB

5.989735.T 00 NR1,002 NAME PLATE

308,0 −−−F

1,00A3 ( NR

KG,100

4W SB

7 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.853273.LAssembly

ECO Date:
DOUBLE DRAG PINCH ROLL 7.050,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

TRN405 1600 4 000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

0.261916.C−B 01 NR8,002 BEARING BS2−2218−2CS2/GEM9

101,0 −−−B 90X160X48 ( EX BS2−2218−2CS2 )

8,00 NR

KG

4P SB

0.228231.K 01 NR4,002 COUPLING GIHN−K50 ISO 6982 M42X2

102,0 −−−B SBK050

4,00 NR

KG

4P SB

0.000314.K 02 NR8,002 HEXAGON HEAD SCREW ISO 4017

103,0 −−−B M24X90−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

8,00 NR

KGS 3.210.001 ,393

3P SB

0.013187.M 00A NR2,002 PARALLEL KEY DIN 6885−1 TYPE A

104,0 −−−B 16x10x40−C50E+N EN 10083/1 ACCORDING TO STD DAN 5.200.001

2,00 NR

KG5.200.001 ,044

4P SB

0.002796.D 01 NR12,002 GREASE NIPPLE UNI 7663−A ISO 7/1 R 1/4"

105,0 −−−B HYDRAULIC − ZINC COATED

12,00 NR

KGS 3.400.017 ,012

3P SB

0.055511.T 02 NR4,002 HEXAGON HEAD SCREW ISO 4017

106,0 −−−B M16X30−8.8−ZINC COATED ACCORDING TO STD DAN 3.210.001

4,00 NR

KGS 3.210.001 ,077

3P SB

0.005083.Z 01 NR4,002 PLATE FOR FITTING PIN TYPE 3

107,0 −−−B 100 X 30 X 10 S 275 JR EN 10025

4,00 NR

KGS 7.100.127 ,220

3P SB

0.000281.H 02 NR8,002 HEXAGON HEAD SCREW ISO 4017

108,0 −−−B M12X25−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

8,00 NR

KGS 3.210.001 ,034

3P SB

0.057858.Q 02 NR48,002 HEXAGON HEAD SCREW ISO 4017

8 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.853273.LAssembly

ECO Date:
DOUBLE DRAG PINCH ROLL 7.050,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

TRN405 1600 4 000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

109,0 −−−B M12X25−8.8−ZINC COATED ACCORDING TO STD DAN 3.210.001

48,00 NR

KGS 3.210.001 ,034

3P SB

0.000460.S 02 NR16,002 HEXAGON SOCKET HEAD CAP SCREW ISO 4762

110,0 −−−B M20X50−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

16,00 NR

KGS 3.210.001 ,172

3P SB

0.000305.T 02 NR8,002 HEXAGON HEAD SCREW ISO 4017

111,0 −−−B M20X90−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

8,00 NR

KG3.210.001 ,258

4P SB

0.001078.N 00B NR8,002 HEXAGON REGULAR NUT ISO 4032

112,0 −−−B M20−8−AS PROCESSED ACCORDING TO STD DAN 3.220.001

8,00 NR

KGS 3.220.001 ,076

3P SB

0.001957.D 01 NR2,002 PARALLEL KEY DIN 6885−1 TYPE A

113,0 −−−B 20x12x125−C50E+N EN 10083/1 ACCORDING TO STD DAN 5.200.001

2,00 NR

KGS 5.200.001 ,240

3P SB

0.063193.V 02 NR12,002 HEXAGON SOCKET HEAD CAP SCREW DIN 7984

114,0 −−−B M10X40−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.002

12,00 NR

KGS 3.210.002 ,027

3P SB

0.063190.E 02 NR36,002 HEXAGON SOCKET HEAD CAP SCREW DIN 7984

115,0 −−−B M10X25−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.002

36,00 NR

KGS 3.210.002 ,020

3P SB

0.546103.C 00 NR48,002 HEXAGON REGULAR NUT ISO 4032

116,0 −−−B M10−8−AS PROCESSED ACCORDING TO STD DAN 3.220.001

48,00 NR

KG3.220.001 ,010

3P SB

0.063198.A 02 NR8,002 HEXAGON SOCKET HEAD CAP SCREW DIN 7984

117,0 −−−B M12X25−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.002

8,00 NR

9 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.853273.LAssembly

ECO Date:
DOUBLE DRAG PINCH ROLL 7.050,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

TRN405 1600 4 000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

KGS 3.210.002 ,027

3P SB

0.001079.P 00B NR16,002 HEXAGON REGULAR NUT ISO 4032

118,0 −−−B M24−8−AS PROCESSED ACCORDING TO STD DAN 3.220.001

16,00 NR

KG3.220.001 ,093

3P SB

0.005126.Z 00 NR4,002 WASHER  D.57 L=8

119,0 −−−B

4,00 NR

KG7.000.012 ,150

4P SB

0.306396.H 02 NR8,002 HEXAGON HEAD BOLT ISO 4014

120,0 −−−B M24X260−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

8,00 NR

KG3.210.001 1,068

4P SB

0.005312.A 02 NR8,002 LOCK NUT 4 SLOTS ISO 2982/2

121,0 −−−B M85x2−D1=102 ACCORDING TO STD DAN 5.100.001

8,00 NR

KG5.100.001 ,410

4P SB

0.005352.H 02 NR8,002 LOCK WASHER ISO 2982/2

122,0 −−−B 85x102x1,80 ACCORDING TO STD DAN 5.100.001

8,00 NR

KGS 5.100.001 ,053

3P SB

0.000532.E 01 NR8,002 HEXAGON SOCKET COUNTERSUNK HEAD SCREW ISO 10642

123,0 −−−B M5X20−10.9−AS PROCESSED ACCORDING TO STD DAN 3.210.001

8,00 NR

KGS 3.210.001 ,003

3P SB

0.000393.K 02 NR36,002 HEXAGON SOCKET HEAD CAP SCREW ISO 4762

124,0 −−−B M6X25−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

36,00 NR

KGS 3.210.001 ,008

3P SB

0.001312.D 01 NR36,002 SCHNORR MILLER SAFETY WASHER TYPE "S"

125,0 −−−B −6−SPRING STEEL− 370HV to 580HV−PHOSPHATED

36,00 NR

KG,001

4P SB

10 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.853273.LAssembly

ECO Date:
DOUBLE DRAG PINCH ROLL 7.050,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

TRN405 1600 4 000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

0.001073.A 00B NR36,002 HEXAGON REGULAR NUT ISO 4032

126,0 −−−B M6−8−AS PROCESSED ACCORDING TO STD DAN 3.220.001

36,00 NR

KGS 3.220.001 ,003

3P SB

0.352529.K/AY2 00 NR2,002 MANDATORY SIGN TYPE 25−O

127,0 −−−B ALUMINIUM−V=4 ACCORDING TO STD DAN 7.500.007

2,00 NR

KGS 7.500.007 ,018

3P SB

4.996223.P 01A NR4,002 HYDRAULIC CYLINDER

301,0 −−−B

4,00A2 ( NR

KG31,000

4P SB

8.272225.M 01A NR4,002 ROLLER

302,0 −−−B

4,00A1 ( NR

KG710,000

40 SB

4.826038.N 01B NR1,002 BASEMENT

303,0 −−−B

1,00A1 ( NR

KG1.790,000

4M SB

4.938375.D 00B NR4,002 PIN

307,0 −−−B

4,00A3 ( NR

KG4,400

4W SB

4.826000.V 00A NR4,002 BUSHING

308,0 −−−B

4,00A3 ( NR

KG,500

4P SB

4.947656.F 01C NR4,002 CROSSHEAD

309,0 −−−B

4,00A3 ( NR

KG4,500

40 SB

4.996350.B/001 01B NR1,002 BASEMENT

310,0 −−−B

11 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.853273.LAssembly

ECO Date:
DOUBLE DRAG PINCH ROLL 7.050,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

TRN405 1600 4 000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

1,00A1 ( NR

KG545,000

4W SB

4.826046.N/001 01B NR2,002 FRAME

311,0 −−−B

2,00A1 ( NR

KG240,000

4W SB

4.947667.B 00B NR1,002 SLIDING SHOE

312,0 −−−B

1,00A3 ( NR

KG16,500

4P SB

4.947666.A 00B NR1,002 PLATE

313,0 −−−B

1,00A3 ( NR

KG64,000

4W SB

4.826001.H 01B NR2,002 PIN

314,0 −−−B

2,00A3 ( NR

KG73,000

4W SB

4.947655.E 00C NR8,002 CROSSHEAD

315,0 −−−B

8,00A3 ( NR

KG4,700

4M SB

4.947654.D 00B NR4,002 SPACER

316,0 −−−B

4,00A3 ( NR

KG,250

4W SB

4.947659.H 00B NR4,002 FEATHER KEY

317,0 −−−B

4,00A3 ( NR

KG1,400

4W SB

4.947664.F 00B NR8,002 SPACER

318,0 −−−B

8,00A3 ( NR

KG,100

12 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.853273.LAssembly

ECO Date:
DOUBLE DRAG PINCH ROLL 7.050,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

TRN405 1600 4 000 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

4W SB

4.947660.P 00B NR4,002 FLANGE

319,0 −−−B

4,00A3 ( NR

KG1,400

4W SB

4.947665.G 00A NR4,002 FLANGE

320,0 −−−B

4,00A3 ( NR

KG2,300

4P SB

0.604486.E 00 NR2,002 DANIELI NAMEPLATE WEAN UNITED

321,0 −−−B 270x90−ALUMINIUM ACCORDING TO STD DAN 7.500.001

2,00 NR

KG7500001 ,300

4P SB

4.742587.V/002 00D NR2,002 FRAME

322,0 −−−B

2,00A3 ( NR

KG1,800

4P SB

7.404589.Z 00 NR1,002 WEAR TABLE

324,0 −−−B

1,00A3 ( NR

KG23,000

4W SB

7.404591.K 00 NR1,002 TABLE

326,0 −−−B

1,00A1 ( NR

KG184,000

4W SB

7.404590.W 00 NR1,002 WEAR PLATE

327,0 −−−B

1,00A2 ( NR

KG22,000

4W SB

7.404586.N 00 NR1,002 BASEMENT

328,0 −−−B

1,00A0 ( NR

KG695,000

4W SB

13 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.855171.GAssembly

ECO Date:
HYDRAULIC PIPING SYSTEM DOUBLE DRAG PINCH ROLL 43,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

ICITRN D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

0.525903.S 00 MT6,002 PRECISION TUBE EN 10216−5−TC1 20x2,5 X5CRNI18−10−COLD

101,0 −−−G FINISHING BRIGHT ANNEALED PLAIN ENDS − STD DAN 2.112.001

6,00 MT

KGS 2.112.001 1,070

3P SB

0.525901.X 00 MT9,002 PRECISION TUBE EN 10216−5−TC1 16x2 X5CRNI18−10−COLD

102,0 −−−G FINISHING BRIGHT ANNEALED PLAIN ENDS − STD DAN 2.112.001

9,00 MT

KGS 2.112.001 ,701

3P SB

0.307944.P 01A NR4,002 BW NIPPLE 24° ISO8434/4 20X2,5 O−RING NBR

103,0 −−−G C STEEL PHOSPHATIZED CERT.EN 10204/3.1B

4,00 NR

KG2.200.206 ,060

4P SB

0.008017.G 01 NR4,002 ELBOW FITT. KS DIN 2353 D 25 STEEL DIN 3859

104,0 −−−G ZINC C. A3C DIN267/9 3.1B

4,00 NR

KGS 2.200.205 ,780

3P SB

0.591211.R 00 NR12,002 NUT AND RING WALFORM PLUS D20 WF−M 20S VI

105,0 −−−G C.St, Zn Coat Cr(VI)−free, VIT ACCORDING SPEC DAN 6.303852.G

12,00 NR

KG,095

4P SB

0.008026.A 01 NR4,002 TEE FITT. QS DIN 2353 D 20 STEEL DIN 3859

106,0 −−−G ZINC C. A3C DIN267/9 3.1B

4,00 NR

KGS 2.200.205 ,560

3P SB

0.008254.S 01 NR4,002 RED.FITT.S SERIE DIN2353 D 20X16 STEEL DIN 3859

107,0 −−−G ZINC C. A3C DIN267/9 3.1B

4,00 NR

KG2.200.205 ,240

4P SB

0.591210.F 00 NR8,002 NUT AND RING WALFORM PLUS D16 WF−M 16S VI

108,0 −−−G C.St, Zn Coat Cr(VI)−free, VIT ACCORDING SPEC DAN 6.303852.G

8,00 NR

KG,060

4P SB

0.008015.E 01 NR4,002 ELBOW FITT. KS DIN 2353 D 16 STEEL DIN 3859

14 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.855171.GAssembly

ECO Date:
HYDRAULIC PIPING SYSTEM DOUBLE DRAG PINCH ROLL 43,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

ICITRN D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

109,0 −−−G ZINC C. A3C DIN267/9 3.1B

4,00 NR

KGS 2.200.205 ,250

3P SB

0.008233.M 02A NR8,002 RED.THRD. ADAPTOR 3/4"X 1/2" ISO 1179 NBR

110,0 −−−G C STEEL ZINC COATED EN 10204/2.2

8,00 NR

KGS 2.200.205 ,150

3P SB

0.062499.E 01 NR8,002 THR.BANJO FITT.  DIN 2353 D 16  1/2" ISO228 S SERIE

111,0 −−−G DIN 3852/A STEEL DIN 3859 ZINC C. A3C DIN267/9 3.1B

8,00 NR

KGS 2.200.205 ,310

3P SB

0.053602.L 00B NR4,002 PIPE CLAMP WELD PLATE d=20−DIN3015−2 For.A−Gr.2

116,0 −−−G POLYPROP. PP WITH SCREWS AND COVER PLATES TOP/BOTT.

4,00 NR

KGS 2.800.001 ,440

3P SB

0.353355.V 00 NR2,002 PIPE CLAMP SUPERIMPOSED d=20−DIN3015−2 For.H−Gr.2

117,0 −−−G POLYPROP. PP WITH SCREWS AND LOCKING PLATE

2,00 NR

KGS 2.800.001 ,400

3P SB

0.053608.S 00B NR4,002 PIPE CLAMP WELD PLATE d=16−DIN3015−2 For.A−Gr.1

118,0 −−−G POLYPROP. PP WITH SCREWS AND COVER PLATES TOP/BOTT.

4,00 NR

KGS 2.800.001 ,300

3P SB

0.353352.S 00 NR4,002 PIPE CLAMP SUPERIMPOSED d=16−DIN3015−2 For.H−Gr.1

119,0 −−−G POLYPROP. PP WITH SCREWS AND LOCKING PLATE

4,00 NR

KGS 2.800.001 ,200

3P SB

0.001295.D 00A NR4,002 SPRING LOCK WASHER UNI 1751

120,0 −−−G −B10−44 HRC a 49 HRC−STEEL− PHOSPHATED MNPH ISO 9717

4,00 NR

KG

3P SB

0.000273.S 02 NR4,002 HEXAGON HEAD SCREW ISO 4017

121,0 −−−G M10X25−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

4,00 NR

15 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.855171.GAssembly

ECO Date:
HYDRAULIC PIPING SYSTEM DOUBLE DRAG PINCH ROLL 43,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

ICITRN D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

KG3.210.001 ,027

4P SB

4.719939.E/003 03D NR4,002 FLEXIBLE HOSE

301,0 −−−G

4,00A2 ( NR

KG,750

4P SB

4.719939.E/006 03D NR4,002 FLEXIBLE HOSE

302,0 −−−G

4,00A2 ( NR

KG,900

4P SB

5.055844.S/004 02J NR2,002 SUPPORT C65

303,0 −−−G

2,00A2 ( NR

KG4,100

4P SB

16 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
01Rev40 1,00QT:ST: 8.855174.CAssembly

ECO Date:
GREASE PIPING SYSTEM DOUBLE DRAG PINCH ROLL 29,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

ICOTRN 2 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

0.525896.K 00 MT25,002 PRECISION TUBE EN 10216−5−TC1 8x1,5 X5CRNI18−10−COLD

101,0 −−−H FINISHING BRIGHT ANNEALED PLAIN ENDS − STD DAN 2.112.001

25,00 MT

KGS 2.112.001 ,240

3P SB

0.198788.M 01 NR8,002 STUD FITT. EO2  GE8ZSRED D8−1/4"  ISO 1179−2

102,0 −−−H C STEEL  DIN 3859 NBR  ZINC COAT. A3C

8,00 NR

KG2.200.208 ,060

2P SB

0.008193.E 00 NR4,002 FIXING 2 BORES PIPE CLIP FOR 4 PIPES DIAM.8

104,0 −−−H DROPSA 111254

4,00 NR

KG2.100.009 ,100

4P SB

0.198774.P 01 NR8,002 GOMITO INT. EO2  W8ZS D8  ACC. AL C  DIN 3859

106,0 −−−H NBR  ZINCATURA  A3C

8,00 NR

KGS 2.200.208 ,120

3P SB

0.243771.X 00 NR8,002 ADJUSTABLE ELBOW EO−WEE08ZSRCF

107,0 −−−H (EX EO−WEE08ZSRA3C)

8,00 NR

KG

4P SB

0.008186.F 00 NR20,002 PIPE CLAMP FOR 1−HOLE FASTENING PIPE D.8

108,0 −−−H DROPSA 111251

20,00 NR

KG2.100.009 ,005

3P SB

0.341657.X 01 NR30,002 SLOTTED CHEESE HEADED CUTTING SCREW DIN 7513

109,0 −−−H −BE−M4x10−=450 HV0,3− AS PROCESSED

30,00 NR

KGS ,002

3P SB

0.008143.K 00A NR8,002 DROPSA STR. MALE CONN.910012 1/8"ISO7−1−1/4"ISO228−1

110,0 −−−H TUBE 8 ZINC C. BRASS

8,00 NR

KGS 042.100.009 ,080

3P SB

0.198767.Q 01 NR4,002 STR. CONNECT. EO2 G8ZS D8 ACC. AL C  DIN 3859

17 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
01Rev40 1,00QT:ST: 8.855174.CAssembly

ECO Date:
GREASE PIPING SYSTEM DOUBLE DRAG PINCH ROLL 29,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

ICOTRN 2 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

112,0 −−−H NBR ZINC COAT. A3C

4,00 NR

KGS 2.200.208 ,080

3P SB

0.000272.Z 02 NR2,002 HEXAGON HEAD SCREW ISO 4017

113,0 −−−H M10X20−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

2,00 NR

KG3.210.001 ,021

3P SB

0.001314.F 03 NR2,002 SCHNORR MILLER SAFETY WASHER TYPE "S"

114,0 −−−H −10−SPRING STEEL− 370HV to 580HV−PHOSPHATED

2,00 NR

KG,002

3P SB

0.008191.C 00 NR1,002 PIPE CLIP FOR 2−HOLE FIXING DIAM. 8

115,0 −−−H DROPSA 111252

1,00 NR

KG2.100.009 ,050

4P SB

0.008283.P 02 NR2,002 HEX SOCKET PLUG 3/8" ISO 1179 NBR

116,0 −−−H ACCIAIO AL C. ZINCATO EN 10204/2.2 B

2,00 NR

KGS 2.200.205 ,020

3P SB

0.598699.M 00 NR2,002 GE−R−ED MALE STUD CONNECTOR G3/8A

117,0 −−−H GE16SR3/8EDCF "PARKER"

2,00 NR

KG,152

4P SB

0.198817.T 01 NR2,002 ADJUST ELBOW EO2 EW16ZS D16 C STEEL DIN 3859

118,0 −−−H NBR ZINC COAT A3C

2,00 NR

KGS 2.200.208 ,260

3P SB

0.198776.H 01 NR4,002 ELBOW CONNECT. EO2 W16ZS D16 C STEEL DIN 3859

119,0 −−−H NBR ZINC COAT. A3C

4,00 NR

KGS 2.200.208 ,280

3P SB

0.053608.S 00B NR4,002 PIPE CLAMP WELD PLATE d=16−DIN3015−2 For.A−Gr.1

120,0 −−−H POLYPROP. PP WITH SCREWS AND COVER PLATES TOP/BOTT.

4,00 NR

18 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
01Rev40 1,00QT:ST: 8.855174.CAssembly

ECO Date:
GREASE PIPING SYSTEM DOUBLE DRAG PINCH ROLL 29,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

ICOTRN 2 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

KGS 2.800.001 ,300

3P SB

0.525901.X 00 MT8,002 PRECISION TUBE EN 10216−5−TC1 16x2 X5CRNI18−10−COLD

121,0 −−−H FINISHING BRIGHT ANNEALED PLAIN ENDS − STD DAN 2.112.001

8,00 MT

KGS 2.112.001 ,701

3P SB

0.353352.S 00 NR4,002 PIPE CLAMP SUPERIMPOSED d=16−DIN3015−2 For.H−Gr.1

122,0 −−−H POLYPROP. PP WITH SCREWS AND LOCKING PLATE

4,00 NR

KGS 2.800.001 ,200

3P SB

0.230565.H 02 NR2,002 STR. CONNECT. EO2 G16ZS D16 C STEEL DIN 3859

123,0 −−−H NBR ZINC COAT. A3C

2,00 NR

KGS 2.200.208 ,230

3P SB

0.000273.S 02 NR2,002 HEXAGON HEAD SCREW ISO 4017

124,0 −−−H M10X25−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

2,00 NR

KG3.210.001 ,027

4P SB

8.384314.F 00 NR1,002 DOUB. LINE MOD. FEEDER 8 OUTLET 1/4" ISO 1179

302,0 −−−H TYPE DM 0.25 −:− 3 CC

1,00 NR

KG5,420

40 SB

4.910428.S/004 02F NR4,002 FLEXIBLE HOSE

303,0 −−−H

4,00A2 ( NR

KG,410

4P SB

5.055844.S/001 02J NR1,002 SUPPORT C65

304,0 −−−H

1,00A2 ( NR

KG3,100

4P SB

19 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
01ARev40 4,00QT:ST: 8.272225.MAssembly

ECO Date:
ROLLER 710,000Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

COMTRN D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

4.947661.C 00B NR1,003 LINER

301,0 −−−C

4,00A2 ( NR

KG380,000

4W SB

4.947662.D/002 01 NR1,003 HUB

302,0 −−−C

4,00A3 ( NR

KG148,000

4W SB

4.947663.E/002 01 NR1,003 HUB

303,0 −−−C

4,00A3 ( NR

KG138,000

4W SB

20 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
01CRev40 4,00QT:ST: 4.947656.FAssembly

ECO Date:
CROSSHEAD 4,500Weight:

KACZMARZ OLGIERDCompiled:

14/05/19  9:42:52E: 81100194

0 D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

4.947656.F−G 00 NR1,003 CROSSHEAD

1,0 −−−D

4,00A3 ( NR

KG4,500

4J SB

21 ofPag. 22



B
O

M
0

0
4

Bill of Material At Levels Explosion CompleteR5530018_DAN002

Flow Type NLEL4034336 LEECO N°3INV: Job Item: DP102U080641
00Rev40 1,00QT:ST: 8.384314.FAssembly

ECO Date:
DOUB. LINE MOD. FEEDER 8 OUTLET 1/4" ISO 1179 5,420Weight:

KACZMARZ OLGIERDCompiled:
TYPE DM 0.25 −:− 3 CC

14/05/19  9:42:52E: 81100194

D03533Printed By

Item Nu.−Shop n° Rev. UMDescription  (from 1 to 4 rows)Level Unit. Q.ty

Let.+ Pos. UMPiece Dim.Dwg Number Rev.
D. Size Tot. Q.tyModel DB UMDescription Lang. (from 1 to 4 rows)

Rev. UMStandardSt Unit Wgt
PC LNTY Supply TypeSTKT

0.197378.H 00B NR1,003 MOD.FEEDER GROUP 8 OUTLETS 675984−0,25−3CM3

101,0 −−−J IN.3/8"−OUT.1/4"−ISO1179 ZINC.C.S.−C.2.2

1,00 NR

KGS 042.100.009 5,040

3P SB

0.000396.N 02 NR2,003 HEXAGON SOCKET HEAD CAP SCREW ISO 4762

102,0 −−−J M6X40−8.8−AS PROCESSED ACCORDING TO STD DAN 3.210.001

2,00 NR

KG3.210.001 ,011

4P SB

0.001312.D 01 NR2,003 SCHNORR MILLER SAFETY WASHER TYPE "S"

103,0 −−−J −6−SPRING STEEL− 370HV to 580HV−PHOSPHATED

2,00 NR

KG,001

4P SB

5.252459.Q 02B NR2,003 FIXING PLATE FOR DROPSA FEEDER DM − DMM − DMF − DMMF

301,0 −−−J

2,00A3 ( NR

KGS ,150

3P SB

22 ofPag. 22


	6.412868.V_001_00
	8.272225.M_001_01A
	8.601437.D_001_00
	8.853273.L_001_00
	8.853273.L_002_00
	8.853273.L_003_00
	8.855174.C_001_01
	BOM_DP102U080641_BOM4034336_001_00

